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Introduction

Every country makes a plan to improve everything for the next four or six years, mostly they
focus on inner, so united nations did the same as a global organization created to preserve
peace and stability after world war Il, then it expanded its goals to be seventeen sustainable
development goals. We choose one of the most beneficial and essential one for humanity to
write about we mean goal number ten, reduce inequalities.

When we think about inequality we often think about our society and how it’s structured
in different classes. We even go further by labeling these increments with what we perceive
as upper class, middle class, and lower class. This class distinction is often based upon people’s
jobs and incomes. Subsequently, as you go up the classes, you're instantly granted with better
guality education, health, and living services.

These labels are the unquestionable proof of the unevenly distributed resources in a
society. An excellent example of this is how wealth is distributed in the United States where
the top 20% of the society has 72% of the wealth of the country, while the bottom 2% only
control about 3%. Unfortunately, classes and labels are not where the problem ends but
actually, where the real problem begins. As Bernie Sanders says “A nation will not serve
morally or economically when so few have so much while so many have so little”.



What problems should we solve?

Initially, we ought to discover the main problems to solve and how did they influence our
topic reduced economic inequality, the gap between some opposites has a strong effect on
economic like rich & poor people, educated & illiterate and class cultures. The gap among rich
and poor people is our main problem because it could cause starvation and spreading
pandemic. This gap is harmful to both if you imagine yourself as a rich man in a community
like this, whatever your business is you will suffer completely like poor citizens sooner or later
because if they didn’t have money to pay for your products your company will bankruptcy
and Inflation rises. The difference among educated and illiterate people could damage
economic because of a high percentage of illiterate investors controlling work which means a
shortage view on what could help and what could harm the institution Conflict in classes
culture cause a lot of instability country, the country should control and monitor bad thoughts
to avoid classes struggle.

Squandering money means spending money in unimportant sectors or important but not
essential like others for example in developed countries they spend most of scientific research
budget on space science, astronomy, and energy, they create a lot of unions and projects to
develop these sectors, however, they know that they have a bad economic cycle which always
causes recession and depression. Causes known, factors to measure known and solutions
ready to discover but ignorance is always the answer. Causes like inflation, Lack of supply,
High-interest rate, and Loans without supervision. Factors to measure like inflation index,
gross domestic product index or GDP index, Purchasing power parity or PPP, and GDP per
capita. Economic measurements always using to avoid recession and depression but avoid
invest scientific research budget on agriculture and manufacture hoping to go to space in next
decades by ruin our life today is something unbelievable.

Selfishness is not something bad in capitalism but this idea became silly because selfishness
cause lays which cause fake growth in international companies’ shares prices because of
cooperation between these companies and Credit rating agencies, credit rating agencies are
private companies, not governmental so it’s easy to make fake reports to cheat on investors,
for example, Enron scandal. It included cheating on investors from Enron in cooperation with
Arthur Andersen LLP was one of the skillful five credit rating agencies in United States America
so the government should monitor companies like credit rating agencies to assist them not
to delete them from economic and discover these problems earlier.



How to solve them?

We imagine how to make a plan to solve these problems, then we find that it should be
globally to be sure about results. Firstly we should show how huge these problem is and the
solution is available but want us to be like five fingers in a hand (work together) to implement
this plan, so first of all we should collect wasting money by reduce luxuries import,
investments on astronomy & space and impose high taxes only on unworked huge amount of
money to courage investors to produce useful products, but we should ask ourselves why
could developed countries’ citizens agree on something like this? | will say it is inconsequential
paradox that developed countries have a great economy with great wages but also with
expensive life comparing to any poor country which could have a double or triple population
comparing to developing countries so we should ask ourselves new question how and why
could this happen? you will find that poor countries only use the land to cultivate so basic
products are cheap there, you will say developed countries have their own cultivation and
they import other cultivational products from poor countries, | will say yeah you are right but
it's not enough to become as cheap as poor countries because farmers in poor countries are
using Primitive tools so their products are quiet enough for them and the rest exported to
advanced countries. our idea will help countries in different economy or educated level to get
self-sufficiency in agriculture and manufacture over worldwide which including high-quality
life for everyone with a small sacrifice from businessmen by abandoning their aspirations for
extraterrestrial life. In previous hypothesis, we used Purchasing power parity (PPP) to show
how could the same amount of money has different values in different countries, for example,
five US dollars make one burger in America but in any African country could make two at least
depends on is burger's elements available in abundance or not.

We collect wasting money and persuade people to support us in this mission. So, the next
step we should redistribute collected money to support cultivation and manufacture in poor
countries with showing respect toward citizens there because they have a bad view about
most of the developed countries (European conquest to poor countries). We should divide
our support to poor countries by finding old researches about their land or discover their
resources to know whether is it a cultivated land, mining country or what, then support them
by advance their tools, machines and invests money there. Supporting education is essential
to maintain improving for both poor and rich countries. when should we stop? The answer is
when poor countries' citizens gain education as developed countries completely and gross
domestic product index(GDP) per capita has convenience value but if it wants additional
support and it was a cultivate country we should help it by offering advanced technology to
let them convert vegetables and fruits to something complex or if it was a mining country we
ought to help it to produce something more complex. | think you want me to thank rich
countries or these businessmen. | will say they got whatever did they pay and more by raising
their PPP because of products available in abundance.



Governments should meet to make a plan to reduce companies controls to support normal
people, for example, to discuss increasing employees’ annual wages ratio to the company's
annual profits to be 70% or more with at most 30% gap among managers wages and workers,
this hypothesis only happen if the company is earning money but if it lose, it should offer
wages depended on the minimum wage of the country. When companies follow these steps,
governments shouldn’t take any taxes only if the company saves a huge amount of money
like a billion without any work for a year or more, so when it reaches that limit government
could impose 10% to 20% as taxes.

Spreading awareness of moderation in everything (thoughts, life, entertainment) will let us
avoid losing technological progress and good living. So, what kind of awareness we should
show and how? Behavior is the main answer in addition to showing how other cultures live
and what is their history and if they changed to better or worse and how should | act to
respect my religion, culture, and habits without hurt anyone or any culture. Awareness about
humanity means a huge amount of knowledge to change previous opinions about you or your
ancestors to show your tolerance or to apologize from others like japan after world war Il
they changed to better and change old views about them. Showing no interest to do this step
could cause rich and poor countries everything because If vanity and hatred do not end,
conflicts will arise that may benefit the beneficiaries of the enmity of each other.



Benefits

From previous part, | think you can guess what could world gain from this plan, you could
say education is the most beneficial, avoid wasting money on astronomy and luxuries until
we are self-sufficiency in agriculture and manufacture over worldwide, workers get higher
wages, companies support humanity especially those in poor countries and paying taxes for
unworking money to support services sectors, these benefits are so obvious but what about
spreading tolerance and cooperation among nations in reality, not in individual experiences,
fake news or political propaganda without implementation. letting products sufficiently
available to reduce prices of products. all of these global benefits will let us discover mars or
any plant and spend any amount of money in space with the most convenient way for
humanity.

Reduce inequalities and stability in worldwide economic increase people's satisfaction and
support global peace and security which increases respect for foreigners' cultures.



Conclusion

Overall, Gap between opposites like: rich & poor, Educated & illiterate, and among different
classes cultures, squandering money, Selfishness and companies control over the world are
problems selected in this report to solve to affect the main problem which is inequalities in
wealth distribution, so to change this reality we suggested a few steps in detail like: collect
money by reducing import luxuries, save money to improve economy rather than astronomy,
and impose high taxes only on an unworked huge amount of money to courage investors to
produce, then use it to develop poor countries by Improving agriculture and manufacture in
poor countries depended on its resources by Providing assistance from developed countries
by publishing researches to reach maximum economic benefit and invest there. persuading
developed countries' citizens is important to Implement the previous step so we used PPP
index to illustrate this hypothesis and how it will support their economic strongly. in last step,
we showed how to control international companies to raise workers' wages, what it should
look like, and how governments should treat them to reduce inequalities between managers
and workers in rights and wages.

Profit could change from class to another and from country to another but the result is they
all winners. Benefits gained by developed countries will be as we persuaded them in problem-
solving steps, however, poor countries' citizens will be the most winners by improving their
countries' GDP index per capita. preserving workers' rights and improving their salaries will
have the most beneficial impact on inequalities. Finally, we explained how to maintain our
reducing inequalities' plan by supporting education in poor countries as developed countries
completely and they will continue improving alone with a respectful view toward anyone help
them to learn and to get a better life.
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